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The figures in the margin indicate fy]j marks
' ' for the questlons
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This paper contains three sections : Section A, Section
B and Section C. Section A containg 10 questions,
each question carries 1 mark. In Section B out of 10
questions only 6 questions e compulsory, each
question carries 5 marks. In Section C out of 6

questions only five questions ape compulsory, each
questlon carries 8 marks.
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. SECTION- A ‘ | | 3. Which of the following strings is not ge“e‘a“’d
: | by the following grammar ?
° Answer the followmg questions : 1x10=10 S —» SaSbSje
1. Match the following columns ‘ ) aabb (i) abab
~ Column - A Column—B (iif) aababb @) aaabbh
® Type 0 (A) Regular Grammar 4. Regular expression (X+Y) + (x+y) denotes the set
| @ Type 1 (B) CFG () {xyxy} (i) {ooxy.yx.yy}
(iif) Type 2 © Context-SensitiQe, @i xyy - W &y

(iv) Type 3

(D) Turing Machme 5

. * Given grammar S—> (L) |aL —> [, § | S which
of the input recognised by the grammar. Select
one

® @)+@®),

(11)-(A) (iii)}-(D), (iv)-(C)
®) @)-D), (ii)-(a), (iii)-(A), (iv)-(C)
© (), (ii)(A), (iii)-(B), (v)<D)
@) (i)~(D), ()-(0), (iii)-(B), (iv)-(A)

@ (@ @@ a
(iii) {(@ 8 9), 8} () All of these

6. The grammar E~> E+E|E*E|a

. - Ambiguous
2. What 13 th;e Regular Expression Matching one or ® &
more specific Chﬂracters 7 (ii) Unambiguous
® x ) (i) + (iii) Depends on the given sentence
Gi)r e

(v) &

(iV) None of the above
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7. ,’.I‘he.mamA ‘diﬁ'erenc_ie betwéqn.DFA aﬁd Ni)FA is
(i) In DFA from any g; her
A y given
any alphabet leading to P it oo 0
(iii) In NDFA from any given state -

states.  teading to

there cannot

(iv) In DFA empty transition méy be présent
8. Theset{a,aa’aaaa" . ) ¥
regular expressiop - -} th the

G a* (i) (eaa)*
ose *
~ (iii) aa (iv) None of these
9. A Mealy machine o tri
i€ accepts a string w |
n. The length of the output string is °F length
(i) n+l | (ii) n—1 |
(iii) n? ¥)n

G the Pt sy
(iv) None of the a'bo'Ve
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SECTION-B -
o Answer any six of the following questions :
_ K . 5x6=30
1. Construct the following DFA : .
(a) Construct a DFA for the set of string over
{a, b, c} having bca as a substring.
'(b) Construct a DFA for the set of string {a, b}
ends in the substring ba. :
2. Construct the following Regular Expression :

(2) The set of all string over {a, b} containing
~ at most 2a’s. . . .

(b) {000, 0001, 00011, 000111, .3,
3. Construct a finitc automation for the regular
language (ab+c*)*®- | |
4. Define Mealy and Moore machine. | |

5. Construct a regular grammar G generating the
regular set represented by P = a*(a+b)(a+b)*.

6. If G is the grammar S — SbS/a, show that G is
ambiguous.

7. If G be the grammar S = 0B/1A, A —» 0/0S/1AA,
‘B s 1/15/0BB. For the string go110101, find
leftmost derivation-
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8. Discuss the' model of PDA with [D, 2. If L is regular then LT is also regular.

- 9. Prove the following identities of regular 3. Define Chomsky normal from (CNF).Find 2

expression: - grammar in CNF equivalent to
@ PQ*P=P@py |  $-»2AbB, A->aAfa, B->bBb.
e+R= ,
- ,10 S)ﬁn Ch R+8. ‘ 4. Construct aPDA accepting the langut;ge L={anb::n
- 10, Jetine Chomsky Classification of - . /m, n2 1} by null store. Construct the correspon-
o . of ] th M, N2 y . . .
.example, | anguages with i ding Context-free grammar accepting the same
o ‘ set. | - |
o SECTION - C : 5. What is Pumping Lemma? Show that the set -
J AﬂSWe" ény f&e of the following questions : L={af/iz1} is not regular. . |
1. Construct a min: 8x5=40 +t and null production ? Find the
to the ﬁnitem;m state automatiop equivalent ' gg:zedmgruma mmar equivalent to the grammar
table: - - ata from the given transition S — aAa, A —bBB, B~ ab, C — aB. ‘
State/Y. 5 g
| B
f qo 9, q,
| 2 K
q* —2_ |
| M 1, .
I q3 qz —
- ERE
! ) : 9, q,
| - L |
| % % o
9 G, q\-
: _ [Turn over
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. 1. Answer anyﬁve
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of the followmg questions :

(@ Hyou S
Want to display some HTMT. dla)::: “51 |

a table j In ty]

will yoy us::lllar format, which HTMT. tags

(b) What is 5 .
‘Mar |
© HoW to wy; quee’ TagmHM?

JavaScript 9 te a hello world example of |

@) What is the
P
(€) What is Sep, “:‘lpose of web bmws“ ?
¢ HTML ?

80

| 2. Answer any ﬁve of the followmg questlons

, - 2x5=10°
(a) What is the key difference between HTML

Elements and Tags ? Also, can you separate |

sections of .texts in HTML ?
(b) How to create a function -in JavaScript ?
| (c) What is Virtual Hostmg? R
(d) What is the pnmary function of the web
_browsers 7 .
() What are somé of the common Q'ber »
attacks ?
() Explain Phishing and how . to prevent it?

i 3. Answer any five of the f0110wing questions :

‘ 5x5=25
(a) What is Clwnt/sel"’er Computing ? Mention
the charac of Client/Server Computing.
(b) Mention the classx‘ficatmn of Client/Server .
architecture. EXPIain three-tier architecture.:
(c) How web browser works ? Discuss Wwith
proper di of web browser architecture.
(d) Discuss the different types of cascading style
sheet with 3Xamples
(¢6) What js web server ? Discuss the working
of web server
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(f) What is a Proxy Server and how do they
Pl")tt"'i’t the computer network ?

Answer any three of the followmg questlons
8x3=24
(@ Write an HTML program for creating web
page Containing tags namely hyperlink,

marquee, table, dropdown radio button,
- button etc.

~ (b) Write a JavaScnpt Program for calculator
contalmng addition, subtraction, multlph-
cation, dxvnsmn clear etc. -

(c) Explain the concept. of a firewall. What are

the various types of firewalls ? Explain in
brief. ‘

(d) What is CORBA ? Discuss the archit
" of CORBA: e eeture

: "Write short notes on any four of the following:

. | | 4x4=16
(@) Client/Server : Fat or Thin

"~ (b) HTTP

(c) SGML

(@ XML

() TELNET

() Domain Name Syster, -
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